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76  Choose the number of the correct respoﬁse' from the given alternatives and

write it in the bracket: | '
L SOS - has already been sent )
(1 a | |
(2) .a;n N
(3) - the ._ o
» _ (4). ahy,__._.. RN
- } 77. She is_;____ Indian but her husband is _ European.

(1) a, a
(2) a, the
(3) an, the
(4) an, a

78 He is heir of millions of rupees.
(1) an
2) a
.(3)  the
(4) some

79 _ Mr Sharma came to meet you.
(1) the
(2) an
(3) a -
(4) any

?i 80 I Ilike | girl in blue saree.
] ONES

{2) an
(3) some
(4) the
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81

tich should help poor.

(1) a, a
() athe
"(3) the, the .
(@) the,a

82 Books impart kanledge vﬁithoﬁt '_____ teacher.
(1) any
(2) some
(3) no
(4) an

83 the students are equally cultured.
(1) some
(2) both
(3) any
(4) many

oA Fuvarvhadu neeade

water evervdav.

(1) no
(2) many
(3) any
(4) some
85 She hasn't __ gold.
(1) any
(2) some
(3) no
(4) many
18
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86 She has dresses in her wéfdrobe. y

(1)
@)

@)

NO
@
®3)
@

88 Ram
(1)
(2)
(3}
@

l'. 1)
| 2
(3)
@

89 You had better

“the “little -

enough
more

iess

87 - There is-. milk so you can't make te_a.',.

iittlé
few
a few

the few

in India since independence.
has been living
is living
will be living

was living

wrote
written
writing

write

90 1If he had worked hard he :

(D)
)
G3)
4
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will have passed
would have passed
had passed

would pass
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92

93

94

95

am -

was

were

_will he

The patient had died before the doctor

&y
(2)
)
Q)

The President

(1)
2)
€
4)

When 1 saw her she

(1)
2
3)
(4)

Why

(1)
2)
G)
(4)
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came
comes
would come

should come

Pushkar next month.

has wvisited

visits

visited

had wvisited

tor her triend.
had waited

has waited

will have waited

was waiting

your work yesterday 7
have you not finished

do you not finish

did you not finish

will you not finish

20

a bird T would fly in the sky.
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96 Even if ydu don't work for me I your work. .
(1 waill do
() .-wQuld do
'G)  should do
4) could do

97  The teacher made students____ hard for getting good ma_rk#.
(1} had worked
2) Iwor-king
(3) worked

(4) work

98 No sooner____ out of the field than he fell down.
(1) he went
(2) did he go
(3) has he gone
(4) had he gone

99  You finish your work in time. (to show external ohligatinn}

(1) may
(2) can
(3) must
(4)  will
100 She get up early in the morning. (to show suggestion)
(1) will |
(2) shall
(3) should
. (4} can
261_A]. 21 o ' . [Contd.....
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101 What is time
(B
N

6

102

- 103

104

105

@

_ your watch ‘?
by o

in

into .

from =

I am not afraid snakes. :

(1)
@
3)
@

I got a cheque Rs. 5,000/- from my fiiend.

(D
@
()
(4)

from -
of

by
with

off
of
for

on

The cat jumped the rat.

{1y

@

3)

(4)

She came and sat

(D
@
€)
4
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Tmi
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over

above

me in the meeting,
besides

beside

from

for
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106 She ope'ned the book page 7.

(1) on
: (2) in
- ; L G) at
: E - (4) -.__.for '
b - 107 I prefer tea___ milk.
() 1o :
(2) than
(3) from
_ (4) for
: 108 What are you talking 7
(1) off
(2) for
3) to
(4) about
109 Our school runs _ 1030 AM __ 430 P M
| , (1) from, to
! @) to, from
i i (3) from, from
1i (4) to, to
! 110 She is angry your misbehaviour.
L (1) to
) (2) at
(3) with
(4) from
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(‘m@s‘e correct Translation of Q 111 to 118 Ouestlons in. Englnsh !

Hmdr a8

asked

11 ﬁﬁﬁmmﬁﬁmaﬁﬁwm

.
@)
B
{4

112 U™y
(1
(2)
(3)
4

:I can't help {auglmw at his Jokes
I can't heip laughing over his Jokes
I couldn't ‘heip laughing at his jokes, -

I couldn't help laughing over his jokes.

gt & 99 e

Water was below my knees.
Water was under my knees.
Water was low to my knees

Water was at my knees.

N3 9% oy w9 8 gE ¥ w W@ §

(1)
(2)
(3)
4

He has been living in Mumbai from his birth.
He had been living in Mumbai since his birth.
He is living in Mumbai since his birth.

He has been living in Mumbai since his birth.

114 rEwdEl ¥ ¥ 59y 9 ARm

6
(2)
3)
(4)

Distribute these oranges between the students.
Distribute these oranges among the students.
Distribute these oranges to the students.

Distribute these oranges in the students.

s @i qd % vag g ¥

(1)
@)
()
(4)

261_A|

Sun rises in the East.
The sun rises in East.
The sun rises in the East.

Sun rise_in the East.
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116 The child fell into the river

L
@
G

@

Eﬂ?ﬁﬁf{ﬁr{w l
Tww T F o o

awE TR frR <o g

117 He made me run away.- |

1y
@
3)
@)

SE 3@ R
IE PR IR o1 |
g% T W @I 4@ |
T A W G T

118 He is jealous of his neighbour.

()
)
&)
@

qE S TR H FE wE ¥
9 HUT TSN ¥ S & ¥
I A T ¥ TR HE ¥ |
q% A TSR W I @t ¥

119 Bitch is a

2R
e

@
3)
“4)

R N
¥y urd

wonian

witch

female dog

120 Parent means

(D
)
()

)
261_A]

_guardian

conductor

father or mother

guide .
25
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121 Anger means
| (1) wrath
(2) ‘ torture
(3) tease
(4) trouble
122.'.- The antonym of 'E_mergé' .is _ |
(1) appear |
(2) disappear
(3) outcome
(4) result
123 The antonym of 'Attract' is
(1) dispel
(2) repel
(3) neutrilize
(4) drive away
124 The antonym of 'Fine' is
(1) gentlemanly
(2) rude
(3} rough
(4) bright
125 When we went to see him we  coffee.
(1) are provided
(2) were provided
(3) will be provided
(4) have been provided
261 _A] 26
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L o127

Blow the hom. The pa_ssiv_e'”‘.-'oice of the above '_sellfencé will be :
' (D _Le{ the horﬁ blown | | |
(2} Lel us blow the horn
(3) Let the ho.z'.n be Dlown
(4) It is requested to blow the horn
128 'The room is being cleaned. The active voice of the above sentence
will be
(1) Someone is cleaning the room
(2) They are cleaning the room
(3) We are cleaning the room
(4)  You are cleaning the room
129 ‘He was laughed at by hLer. The active voice of the above sentence
will be
(1N He lanohad at har
(2)  She laughed at him
(3} He laughed at him
(4) She laughed at her
|
| 136 Do you love me? The passive voice of the above sentence will be
(1) Wil T be loved by you ? |
(2) Are you loved by me ?
(3) Was I loved by you ?
(4) Am I loved by you ?
261 A} 27 [Contd.....
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131 "Who teaches you Engllsh "

The passive voice of the above sentence w111 be :

)
@

NO¥
@

‘By WhHMm are you taught English 2 =

By whose are you taught Enghsh ?

By whom were you taught English 7 '

By who were. you taught English ?

132 'Please enter by that doot’.

The passive voice of the above sentence will be : *

(1
(2)
&)
“)

He is requested to enter by that door
You are requested to enter by that door
I am requested to enter by that door

We are requested to enter by that door.

133 He said to her,_ ‘Time waits for none'.

The indirect narration of the above sentence will be :

(1) He told her that time waited for none.
(2) He told her that time had waited for none.
(3) He asked her that time waits for none.
(4) He told her that time waits for none.
134 He said "Hari grows nlants" Tha indiract marratinn o€ the aboos sa o
will be : _
(1) He told that Hari grows plants. |
- (2)  He asked that Hari grows plants.
(3) He told that Hari grew plants.
(4) Hé asked that Hari grew plants.

135 He said to me, Do you know my name ?' The indirect speech of the above

sentence will be

(1
(2)
©)
)

261_A]

He asked me if 1 knew his name.
He told me if I know his name.

He asked me if he knew my name,
He said to me if he knew my name.
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136 I said to him, "What is your name ?"

The
08
@
3)

@

indirect speech of the above sentence will be:
I told him what his name was’

I said to him what is _his r_iame

I told him that vrv'h'at his name was

I asked hfm what his name was

137 Ram -said to me "Leave me alone".

The

W

@)
()
S

138 The
The

(1)

@)

&)

“)

139 She
The
(1)
(2)
(3)
“)

140 The
~ The

(1)

2)

(3)

“4)

261_A]

indirect speech of the above sentence .WiII_ be:
Ram said to me to leave me alone.

Ram asked me to leave me alone.

Ram said to me to leave him alone.

Ram told me to leave her alone.

teacher said to the boys, "Don't annoy me".
indirect narration of the above sentence will be:
The teacher forbade the boys to annoy him.
The teacher asked the boys not to annoy him,
The teacher told the boys don't annoy him.
The teacher said to the boys to annoy him.

said, 'How beautiful the flower is!"

indirect speech of the above sentence will be :

He said that the flower was verv heautifill

She exclaimed with joy that the flower was very beautiful.
She exclaimed that the flower is very beautiful.

She asked that the flower is very beautiful.

teacher said to the boys "You can do this work’.

idirect narration of the above sentence will be:

The teacher told the boys that they could do that work.
The teacher told the boys that they can do this work.
The teacher told the boys that they can do this work.
The teacher told the boys if they could do that work.
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Q. 141 te 150 : Passage’

Read the Jollowing pa.s'sc_zgc and write inthe brackeis the lefter of correct .
answer of the questions froti the given alternctives : B '
The average life span of humanity throughout all history was twenty seven -

‘years: In the 19th century, however, science and improved technology treble
- life expectancy. As technological. capabilities improved and fife expectancy
~ increased, the number of babies per family went down, demonstrating the

fact that nature keeps on balancing the population figure. After major wars,
when large number of young and healthy men are killed, baby-making
increases. The birth-rate continues to rise for five years or so after wars

~end, until the score is rectified. AH this happens without conscious

cooperation or even the knowledge of the humans concerned. When the
probabilities of human survival are poor, nature makes many babies. When
the chances of man's survival improve, nature reduces the number of new
babies.

141 The author says that throughout history
(1) Every man died on attaining twenty seven years
(2) The average life of human race was 27 years
(3) Every man lived for twenty seven years or so.
(4) Some men lived for less than twenty seven years.
142 With the development of science and technology in the 19th century.
(1) people expected more comforts in life
(2) people expected to produce more babies
(3) people expected more agricultural production
(5 By plupls capeuisu W nve olger
143 As science advances and technology improves
() The number of babies born becomes directly proportibnal to life
expectancy.
(2) The number of babies become inversely proportional to life expectancy.
(3) The number of babies born is checked by nature.
(4) The number of babies is encouraged by nature,
144 The author says that
(1) major wars are directly responsible for making more babies.
(2) The surviving young and healthy men are directly responsible for
making more babies.
(3) Peace following major wars is directly responsible for making more
babies
(4) The death of a large number of young and héalthy men is directly
responsible for an increase in babies making.
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B

#45  After major wars people produce more babies because
{13 ThLy want 1o have 'them.
(2) " Nature guides lhem to do so.
(3) They want to cooperate with namte

(4y  They are domg so without knowing it.

146 The poor chances of human survival are responsible for -
' (1).___ making peoplé- against having more babies.

(2) Not making more babies. |

{3) restricting the production of human life.

(4) making more babies at the instance of the nature.

147 With the improvement of the chances of man's survival, nature
(1) increases the number of new babies.
(2) decreases the number of new babies.
(3) Neither increases nor decreases the number of new babies
(4) Either increases or decreases the number of new babies.

148 The improved technology and increased life expectancy demonstrate the
fact that nature

(1) does not keep on balancing the population figure.

(2) seldom keeps on balancing the population figure.

(3) keeps on balancing the population figure.

(4) never bothers to keep on balancing the population figure.

149 The birth rate continues to rise after the end of war for
(1) One year
(2) Three years
{3) Four years

{4y Five years

150 The word 'probabilities’ means
(1) likelyhood
(2) anything having an appearance of truth
(3) chances
(4) occasions
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